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QUESTION 1

Click the Exhibit button. 

A network administrator receives complaints that the application voicecube is timing out after being idle for 30 minutes.
Referring to the exhibit, what is a resolution? 

A. [edit] user@host# set applications application voicecube inactivity-timeout never 

B. [edit] user@host# set applications application voicecube inactivity-timeout 2 

C. [edit] user@host# set applications application voicecube destination-port 5060 

D. [edit] user@host# set security policies from-zone trust to-zone trust policy intrazone then timeout never 

Correct Answer: A 

 

QUESTION 2

Regarding content filtering, what are two pattern lists that can be configured in the Junos OS? (Choose two.) 

A. protocol list 

B. MIME 
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C. block list 

D. extension 

Correct Answer: BD 

 

QUESTION 3

Which three parameters are configured in the IKE policy? (Choose three.) 

A. mode 

B. preshared key 

C. external interface 

D. security proposals 

E. dead peer detection settings 

Correct Answer: ABD 

 

QUESTION 4

When an SRX series device receives an ESP packet, what happens? 

A. If the destination address of the outer IP header of the ESP packet matches the IP address of the ingress interface, it
will immediately decrypt the packet. 

B. If the destination IP address in the outer IP header of ESP does not match the IP address of the ingress interface, it
will discard the packet. 

C. If the destination address of the outer IP header of the ESP packet matches the IP address of the ingress interface,
based on SPI match, it will decrypt the packet. 

D. If the destination address of the outer IP header of the ESP packet matches the IP address of the ingress interface,
based on SPI match and route lookup of inner header, it will decrypt the packet. 

Correct Answer: C 

 

QUESTION 5

Which statement is true about a logical interface? 

A. A logical interface can belong to multiple zones 

B. A logical interface can belong to multiple routing instances 

C. A logical interface can belong to only one routing instance 

D. All logical interfaces in a routing instance must belong to a single zone 
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Correct Answer: C 
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